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PART A — (10 x 2 = 20 marks)

1. Differentiate betweén diffraction and scattering.

2. . What is the difference between dB and dBm?

3. What is doppler spectrum? '

4. How FSK is implemented using FM transceiver?

5. What are the important features of orthogonal codes?

6. What is the probability of grx;or of BPSK in Rayleigh fading channel?

7. Give the typical values thét is possible for a cluster size in cellular topology.
8.  Why key size in the security of an encryption algorithm is important?

9. Draw the flow diagram of coded speech packets in GSM.

10. What is IEEE 802.15?
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PART B — (5 x 16 = 80 marks)

(1) Why does multipath in wireless channels limit the maximum
symbol transmission rate? Derive the expression for fade margin.
(10)

(ii) A mobile system into provide 95% successful communication at the
fringe of coverage with a location variability having a zero mean
Gaussian distribution with standard deviation of 8 dB. What fade
margin is required? (6)

Or

What are error control codes? Explain the convolutional coding
mechanism for a rate % and how it is used in wireless systems. (16)

Derive the capacity of a CDMA system and compare it with AMPS FDMA
and IS-36 TDMA. (16)

Or

.Explain how cell splitting and cell sectoring improves the capacity in

cellular systems. How co-channel and adjacent channel interference are
being reduced by cell splitting and sectoring techniques? - (16)

What are the various issues related on mobility management? Give the
details of location update algonthms and handoff algorithms with
suitable diagrams. (16)

Or

(i) Explain the differences between public key and secret key
algorithms. (10)

(i) What is the time required to break a security system in the worst

case, if the last six bits of the keys used in a private 802.11 LAN are
always zeros? 6)

(i) Draw the timing diagram related to hand off which involving a

single MSC and two BSS. 8)

(ii) Explain the GSM protocol architecture. . (8)
Or

(i) Why does WCDMA use Walsh codes in forward and reverse

‘channels? Explain the difference. (10)

(ii) Sketch all four of the 4-bit Walsh codes. Sketch the ACF and CCF of

the first and second code. : 6)

2 95115




[image: image3.png]15.

(a)

(®)

(i) What are the IEEE 802.3, 802.4 and 802.5 standards" Explain the
differences between them. €))

(i) Explain the major challenges for implementation of wireless LANSs.

®
Or

- Give the complete stack protocol for the imﬁlementation of an email

application over Bluetooth. What are its limitations? (16)
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